How to do Long Division

Question:   5635 ÷ 5
1) Set it out like this: 
            5  5635Dividend
Divisor

2) Start with the largest place value: 
	How many 5s go into 5? 1
                                            1
		5  5635
3) Now move to the next place value: 
               How many 5s go into 6? 1 with 1 remaining
		11
	 5  56135
4) Now we have carried the 1, we can ask: 
                How many 5s go into 13?  2 remainder 3
	     11  2
	 5  561335
5) Finally, the last place value with the carried 3:
               How many 5s go into 35? 7
                                        11  2  7
	 5  561335
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Final Answer:  1127. 


